
Total No. of Questions - 3] 
(2062)

[Total Pages : 4

9710
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HINDI

Paper-Ill 
(Semester-I)

Time : Three Hours] [Max. Marks :
Reg.:80

Pvt.: 100

tjWt 1^*1 3ifdR=kt ^Rt tor w^tti

1. SfddH TRRFT ■54TW :

(^) 1ft 1?, <f>t 3irlrd

$■^$•1 ’’jyf hIs [^<'414) ^t
3^ STRMIMI RRt =Ft 3WR fn^i

3TW

4)old SiPdH 3Tpft 31R3t

T5FT 3?R

dlWfcl+dl 3FPR1 cfk ^TT ||

MSIHI4I 1W ^FTItt tl
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(X) iMt ^«Mt TOt toRt ten t, ttIto-ttotoi t, Tifroj 

tijroMTOTt^-jnTO^tMtTO totfrt to 
"TOT t'l TOTt 4 JR ‘J’T TO t? Mt TO <%cldl 

?t TO?t tl JTO TOTOfM? ?t?IT t T^t TOt 3ltl, Mt TOlfTT 

3 T^t tl

3TTOT

TOR ?TOTt tfTOT sftT TOT RfTO M f?TTT 

3lfr =h<r1S Mt ?TTO M? M TORT 4ISdl 't, Mt TORt 

•HHM TOT =h<r<4l*Jl R MtRTI M ?TT fqR'H M T?l JTO 

M 3TT^ Srf^FTFT 3 3FHt <Hc| =hlf(f ^ft 3tf^R> H$r=l 

f^TTI 3TR^ <R1^ ^>T ^T ^TT sfft <Ki<t>l T^TT 

toft wtf to, fror ^1

(^T) Pb'Wl mA M ■Rlftl ■$ T?TT VT "A 0=6 sft r|$| t

frnf TJ^F T®F5 cR ^-Sl—^H-TO f^RTt ^StlA ^RTT 

^T ^F^TI TO TO? TO TTTOT t,

TO Mt T^ft to?, far TOf tot ^nftT* ?tt M?

3TTO

t^T t f^F fro ^E3t 4 TJR Wro TO TJT«T *R 

TO TOcft Mt, ^TtM ^ft «IT TO Mt Mft-Mft TOT 
fqTTTTOT TO t W ^r?lt TO M TOW TO TTTOT 

TO t, faTF£ -Rlt TOJt TO TO TOH TOTOt T?t ?t, 

TOMt TOT TO sift f*F TO TO TO TOTOT M TOFT TOTTI
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(-EI) rflcn^f A qk Tok tl

qrsk t Aipp A kizt-^t 4<feqT Mt IqpP-tqpP 
qpre sfa qrqfcFftqf A m ^rat ti.......kfkq qkf

oH qtt $p kfcp qkf q^ pqqft kii q^kf

qft xRt^T qp P?T ^1........   qkf qft qpft aTRfft 'RtflA

Afrit i^tft t vnqqi

3TW

wft -qt -qr aiwr ^t, -qsf-vqfeR thht ^tti 
sfhc Kteft? wpr eft K^n ^nft ti 

3nftH--qnfaqr q^Rqi ark qq^rsn^R m 

VRfr k -qipp 44M ^7 tnt tl Ttk-^FTIBk 

w Tit t < qTFjq m kt #q 

cit, tit oitl 8x4=32
(9x4=36)

2. tkrkt WT -5Rkf 3TR 1kff^ :

(■ef) ‘afer’ -qq pre qftfaKi

(7i) ‘Am snW kt nq^ira ftrer ^ft pqtsn ^ri

(p) ‘khre’ yq-MW qk ^n-qrqr t, te

qftf^Ri

(q) ‘kkn’ qft «w-Ark qr ijwi ^rfkr^i

(^) ‘3nQ-3j%|V Hizq? qq qfaqra pre qfttkRi
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(^) 7$ tr ^fU-fro

(t5) ‘W^Jkl’ HT^F eft Hlde^dl °ft RRt^T

(O ‘^h^JkT HT^F ^FT ^T W WtRI 4x10=40 

(4x12=48)

3. RMt 3Pft 3lfa Rfw TO ^IR :

(^7) ftft fsRfadlC faf^RI

(O ‘rTRH’ TOTOT ^ft RPfTO Tt^l

(r) ‘w^y<r* ^rt f^RT to ^n m an^ifta 
t?

(V) *-fclT 3TO’ ^FTRT ^T 3JTOH t?

C3-) ‘3nQ-3P$’ TOE 31WR TR RlfMt 

TORI

(^) ‘3]TQ-3P^’ TOF R1RTOT ^T sftto ftT5 ^ftf^fRI

(t5) ‘RtRFT’ TOR TR RhR ‘‘jfWT TTE

(^) ‘ArH TORT’ 4M-MH 3 feR Sh eft rtrrt ^ft TOR
TOH TRT t? 8x1=8

(8x2=16)
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